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General Instructions:
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All questions are compulsory.
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The question paper consists of 34 qguestions divided into four sections A, B, C and D. Section-
A comprises of 8 multiple choice questions of 1 mark each; Section-B comprises of 6

questions of 2 marks each; Section-C cornvrises of 10 questions of 3 marks each and Section-
D comprises of 11 questions of 4 marks each.

9 Y99 U5 H hIE ooy 76T B

There is no overall choice in this question paper

FFI S TN A R |

Use of calculator 1s.net permitied.

@us-3AH / SECTION - A

UTA HEAT 1 | 8§ 7ok Tk U9 1 31k T 5
Question numwpoers 1 to 8 carry 1 mark each.
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(@)  UETHE qUleh TaI ©

(b) 3
(c) 5
(d) 25

What is the smallest positive integer which should be multiplied with 6 (where n is a natural’numbper)
so that it ends with the digit 0 ?

(a) there does not exist any such integer
(b) 3

(c) 5

(d) 25

2 Ife p T U T&AT € S p, o HI (& ‘o’ Tk S T0ieh &) fammisia et &, aa = # @ 1

HH-T TA &2
@) podfawca & s ® (b))  p, o BEwWT BT
()  p? o faafeq st @ (d) < p, N == fasfera e §
If p is a prime number and p divides a” (where ‘@’ is a-nositive inicger), then which of the following is
true ?
(a) p does not divides a (b) p divides ¢
(c) p> divides a 'd) o aivides ' a
3 AfG 3+ 7y=758 MM 7x+3y=25%, Ax+p HIAA T : 1
(a) 14 (b) 150 (c) 10 (d) 100
If 3x+7y=75and 7x+ 3y =25, then the value of x +y is :
(a) 14 (%) 150 (c) 10 (d) 100

4 = feu stergl § 8 ®1 1 A 38 9g0e &1 (e & g, f99e #E arafas s @i g2 1

(A) (B)
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Page 2 of 9



v
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Y ¥
Which of the following graphs represents a polynomiai, with no real
zeroes ?
(A) (B)
Ya X
|
v, S
X' > X X4 — > X
0 lo
Y
YI ]./I
© (D)
b X TY
I U
X' » X X'« > X
¥0 O
Y A\
Y! ¥
> If& A ABC ~ A DEF, ar (A DEF) =200 cm?, 22 = L& rar (A ABO) &
DE 2
(a) 25 cm’? (b) 50 cm?
(c) 200 cm (d) 250 cm?
If A ABC “A DEF, ar (A DEF) =200 cm?, 22 = 1 then ar (A ABC) is :
DE 2
(a) 25 cm® (b) 50 cm?
(c) 200 cm? (d) 250 cm?

6 I 56c2A = cosec(A — 27°) ®, STEfh 2A T = I §, ALA i HIY S T

(a) 35° (b) 37° (c) 39° (dy 21°
1f seCZA = cosec(A — 27°) where 2A is an acute angle, then the measure of ZA is :
(a) 35° (b) 37° () 39° (d  21°
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I x = 25in 0 3ﬁ'{y=2c0529—2%,?|3fx+y3m1:|ﬂ% :

1
(A) - (B) 2
2
(C) 0 (D) 1
If x= Zsinze andy= 2c0529 — 2, then the value of x+yis :
1
(A) - (B) 2
2
(€) 0 (D) 1

=1 @ @9 @1 fopddt 27 0t Sela wgfa o1 A T2 § 2

(A) U8R (B)  HIEASh (C) =B (D, #r&A
Which of the following is not a measure of central tendency i a distribution ?
(A) Range (B) Median © Mode D)  Mean

©ue-d/SECTION - B

U9 GE&AT 9 | 14 Tk Tk W7 2 3{ea) T 8

Question numbers 9 to 14 carry 2 marks each.

FfokeTe TS TAREH & FAI § 918 741162 <6l 4.9, (HCF) A hifsq |
Find the HCF of 918 and 162 using Euclid’s Division Algorithm.

s fgemd sIgug ky® 42y — 3k ¥ X! o1 AN STk TOMH®A o a0eR 8, 'k’ &1 A 1A Hifog |

If the sum of th¢ zeroes of a quadratic polynomial ki +2y—3k is equal to their product, find
the value of k.

— + .
A3 o 3 */S_%H
5 5

T3 fgom a55 awimy S =
3+43

5

d

Forim aquadratic polynomial whose zeroes are

-3
an
5

AABC H AB=24 cm, BC=10 cm 3IRAC=26 cm & | T AABC H, /B Teh HHHIU B ? 3TY4 I <hi
T o R ST

N



13

14

15

16

17
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In AABC, AB=24 cm, BC=10 cm, and AC=26 cm. Is it true to say that AABC is right-angled at B ?

Give reason in support of your answer.

A 4 cos =11 sind & A 11.505° ~ 7 5in? o5y gy gy agifi 2
11 cos® + 7 sin®
If 4 cos0 =11 sin6, find the value of 11 cos® = 7 sin® .
11 cos® + 7 sin®
7 SReRd1 e F1 TgAH FA DI &L 2
S 10-20 [20-30 [30-40 [40-50 [50-40 |
feranferell 1 @ | 15 30 45 12 /150
Find the mode of the following frequency distribution: | | __
Marks 10-20 |20-30 |30-40 40 —_SOJ 50 - 60
Number of students | 15 30 45 < |12 18
@ueg-"/SECTION - C

U9 WEAT 15 | 24 Teh Wedkeh U 3 (@ HT &
Question numbers 15 to 24 carry 3 marks each.
Tz foh 1 oft eI TH YUk 8q, 8q+2, 8q +4 A8q +6 F ©F FT THl, & &l q FE TF I 3
Show that any positive <ven integer is of the form 8q, 8q + 2, 8q +4 or 8q + 6, where q is some
integer.
oI i faf¥ gRT 23T fF v — 1 789G «° — 2% — 5x + 3 T Teh UHETE T | 3
Show by diwvisien method that x — 1 is a factor of polynomial x” — x* —5x +3.
x TNy o ¢ BA ST 3
x+u=a+b

ax+hy=a’+b’
Setve forx andy :

x+y=a+b

ax+by=a’+b




18 ST SifSTT ol T 42 4+ 2x 42, TGS 1 4 3% + 7x2 + x + 13 Tl [OHETE T AT & | 3
Check whether x2 + 2x + 2 is a factor of x* +3x3 + 7x2 + x + 13 or not.

19 T8 TRRq H PQ|[BA TN PR||CA €1 A PD =12 ¥ &, T BD x CD I 7 I i | 3
A

B P C D
In the given figure PQ||BA ; PR||CA. If PD=12 cm. Find BD'x CD.
A

R
Q
B i3 & D
20 If Tk agYs & faertl ta gE &l TaIuE # Fed Tl fag i iR 97 e auee g 3
If the diagonals of a quadrilateral divide each other proportionally, prove that it is a
trapezium.
21 forg i tan® * sec®. 1 1 *sinb 3
’ tan® “sechd t 1 cosh
0.+ sech - i in®
Prove that ; 202" S 1 _ BT sin?
tan® = sech T cos®
22 IS x sin?0 + i Cos?0 = sinbicosd TAT x sinf = ycosh T, A1 TS FIT foh x2+12=1 3

If x sin30 4.y €0s36-= sinfcosh and x sin = ycosh prove that x2+12=1

23 | 7 TRON § @F Shaed & 200 ST 1 ST oIad ST 91 & | T SAThEl o1 HIEAH T0d BT @ 3

’ ek S (B H) 10099 [ 2009 %A [ 3008 % |4008HA | 5009 FH

! AT T TE&A 40 82 154 184 200

‘ Find the median for the following table which shows the daily wages drawn by 200 workers in a factory.
| [ L.}aﬂy wages Less than Less than 200 | Less than 300 | Less than 400 | Less than 500

|| (inRs.) 100

Page 6 of 9



24

25

26

2"

Page 7 of 9

| [ No. of workers [ 40 [ 82 [ 154 [ 184 [ 200
71 sz o folq o[t STRERAT T HITST Steteh 78 foa @ fop sie o1 "ieaen 24 € 3
S (auiH) : |0-10 [10—20 [20-30 |30—40 |40-50
RSN 5 25 f 18 7
Calculate the missing frequency from the following distribution, it is given that the median of the
distribution is 24 :
Age (inyears): | 0—10 |10—20 | 20—30 | 30—40 40—50J'
Frequency : 5 25 f 18 7 l

T GEAT 25 O 34 Tk Uk U9 4 3{ehl HT T

T|Ue-g/ SECTION - D

Question numbers 25 to 34 carry 4 marks each.

STHIAT, G-l 991 T&E § Teh @ 3T & % o sufxd & foIe 1€ s g% fhu) T =€ s QU 4
* B a8 HAW: 10, 16 T91 20 Az 2 T Al i 7 T =i 3% o, @ fohae w9 o @e T
Teh 1€ ol Tohgl Y& b4 | 37 ol 1 foh il o1 Ueid gatn?

Amita, Suneha and Raghav start preparing cards for all the persons of an old age home. In
order to complete one card, they take 10, 16 and 20 minutes respectively. If all of them started

together, after what tirie will they start preparing a new card together ? Which values do
these children reflect.

afs TR T W o793 B NS ST S, aﬁa%éaﬂaﬁ%,wﬁﬁmmaﬂiaﬁuﬁsh@

9 .
R TG — &7 @iy, w19 1 hiferg |

1

. 4 . .
If a fractiote. becomes'— when three is added both to numerator and denominator and when

5

. . . . 9 . .
five'is added to both numerator and denominator it becomes —, then find the fraction.

11

FZIE x3 - 10 x2+ 31x — 30 T ST I TN B, A 2 TR 3 3HH AF ¢ | 4

Find the other zero(es) if 2 and 3 are zeroes of x3—10 x2+31x—30.



28 I Teh FHRIYT TS o TR d1et MW A HU W T G A d A9 b e AR o4 o &qs, 4
Yl TS & ey 3 € IR 3T | of FHEY B € |
If a perpendicular is drawn from the vertex of the right angle of a right triangle to the nycatenusa.then

the triangles on both sides of the perpendicular are similar to the whole triangle ard also 10 eaci
other.

29 ABCD T Taid =gys ¢ fTo AB||DC § 3T 3o fashol wem foig 0 W afa=se &md & cufsu f 4

AO _ CO &,
BO DO
ABCD is a trapezium in which AB||DC and its diagonals intersect each-othei at the point O. Show that
AO _ CO
BO DO

30 IE tan® + cotd =2 &, T tan0 + cot’d T WM JA HIFST 4

If tan® + cotd = 2, find the value of tan’0 + cot’.

31 B PITIT 4
sin2 30°. cos2 45° + 4 tan2 30° + — sin2 90° - 2.c0s2 90° + -
2 24
Evaluate :

. 1 . 1
sin? 30°. cos? 45°+ 4 tan2 30° + — sinZ 90° —2.cos? 90° 4+ —
2 24

32 IS sinb = —\/Ci b.i|(d>0%, qd cns0 3T tan o T AT hifeT | 4
2 4 .2
c d

< .— andd> 0, tirid the values of cosf and tan®.

’\/c2 + a6

If sin® =

33 1 STiehel ) WIeE, Hieden a9l Sigeish A hiToTY, : 4
T =50~ [F0—100 [100—150 [150—200 200 — 250 250 —300 P00 — 350
ANERAT 2 . B 5 6 5 3 1

"Find mean, median and mode of the following data :

| L’T’ldss ) 0—50 [50—100 |100—150|150— 200|200 —250{250 —300{300—350
Frequenc 2 3 5 6 5 3 1

| LErequency

|

A\
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34 191 IR 9o & 18 U 9§ oty el R0l SIdU | 37d: o2d 1 A1Ee 91 HITTT o
i 5-10 |10-15 | 15-20 |20-25 [25-30 |30-35 |35-40

IR : | 2 12 2 4 3 4 3
Draw a more than ogive for the following frequency distribution and hence obtain tie median.
Class : 5-10 [10-15 [15-20 [20-25 [25-30 |30-35 | 35—£J
Frequency : | 2 12 2 4 3 4 18

%k %k % %k %k
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